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APPLIED PHYSICS
foreife o« ot (TR i : 70
Time allowed : Three Hours] [Maximum Marks : 70

T . (i) W gvT AErE & v 4 4 el aier & I g |
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(i) He9% 59T & T 9T i FHAAR UF G 56T BT |
Solve all parts of a question consecutively together.
(iii) Fed T 79 93 § GRS B |
Start each question on a fresh page.
(iv) @ wrrer & s a @ Ref 8 siaeh e & T 1

Only English version is valid in case of difference in both the languages.

1. (i) 3TI%YT U S GRETS BT |
Define modulus of rigidity.
(i) IETEE S W R Ry |
Write definition of escape velocity.
(iii) Terp ferer =t afvaon ST |
Give definition of electric potential.
({v) e faege v T R 2
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What is photo electric effect ?
(v) SoaEm affd | = AT § 2
What is meant by mass-defect ? (2%5)

P.T.O.
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(2) 1869
> 4 =
o1 YT SR I | R A ?Fgg=3nGRdﬁWﬁmﬁﬁm
STt Waral & vt ot € |
What is meant by fundamental and derived units ? Check the correctness of the
4
formulag=,7 G Rd. Where the symbols have their usual meaning.
o Yt we faeyss v H S S WHEATST |
Explain the difference between streamline and turbulent flow.

e Heel § Ot 10 S, T Ueer € 1 3t T % g T 9.8 X 10-2 =g/t &,
i SFyrTel B e T ST |

Water rises upto 10 cm in a capillary tube. If surface tension of water is
9.8 x 102 N/m, then find radius of the capillary tube. (2+4,3,3)

=1e %1 TN EE fEey o RO % A H HEE F E 8 At
uRede ¥ o STeas g P e HIAY |

Write Newton’s law of gravitation. Establish the necessary formula for variation
in the value of gravitational acceleration with height.

SR AR 1 G que ST | ST T | S % O U si weeE % fere
HEYTH I T HT |

Describe the resonance tube with diagram. Find the necessary formulae for
velocity of sound and end correction using resonance tube. (6+6)

[ 1 Ve 1 e fefEn | - aest 1 TEEaT ¥ e & e
frarw = e ST |

Write Newton’s law of cooling. Derive Newton’s law of cooling with the help of
Stefan-Boltzmann’s law.

et foreg aTeT S o foel g R Tt &t 1 Sl =67 g 4 I |
Derive formula for intensity of electric field at a point due to a point charge.

10 3t a7 15 3w % R AR 1 GHR 9 § Stew T 15 diee % fow w9
Sire foar SR & | WS 1 e U T 15 3 % ofeiy § wefed ORy i IO
FIAT |

Resistance wires of 10 ohm and 15 ohm are joined in parallel and attached with
an electric source of 15 volt. Calculate equivalent resistance of the combination
and current passing through the 15 ohm resistance. (2+4,3,3)

www.regional.ac.in



102

wwyo\g.reglonal.ac.ln 3

(@)

(i)

@

(i)

(iii)

(i)

®

(i)

3 1869
favammdt & fagia v srfat s afew avF FiT |

Describe the principle and working of potentiometer.

T L-R et aRT uikee % fore wfer s fafa & oitaer =it wideren e S w
FHITT |

Find impedance and phase difference with vector representation method for an
L-R a.c circuit. (6+6)

A1 T T ¥ 2 S R U ot IR i |

What is mutual induction ? Define coefficient of mutual induction.

P T& N WR & e 9 a7 & 7 Ty |

Explain the formation of P and N type of semiconductors.

T PNP ZifSTe & ST & 99y |

Explain the biasing of a PNP transistor. (2+2,44)

ATERTE & U9 T THeRoT S THEET |

Explain the photo electric equation of Einstein.

AT foraue i THEAET | e Ruset % faid= Wi &1 |ies qui iy |
Explain nuclear fission. Describe with diagram various parts of a nuclear reactor.

(6, 24+4)

TiEhig gHEIET & HROT, THNE T TG F 39 fAE |
Write causes, ill effects and ways of protection of nuclear hazards.

sarTTen | foreme fofa gRT fedl STt o o Wi I T A @l A o |
FUF HIT |

Explain the method of finding focal length of a convex lens with displacement
method in laboratory. (6+6)
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